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Perimeter:

A=4+6+10+3+6+3=32cm
B +5+11+11=32cm
C=21+21+2+2=46cm

Shapes A and B have the same perimeter.
Area:

A x6+6x3=24+18=42cm*
x 11 = 55cm?

C=21x2=42cm*

Shapes A and C have the same area.
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B=9x2

A=Bx3=2em?
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7mx[]=91m*
$im = 7m = 13m

7m x 13m = 91m?
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Possible explanation:

I'have noticed that although each of the rectangles
have different lengths and widths, their perimeters
are the same. This is because when you total one
length and one width, it equals 11cm.
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Possible responses:

A=5+4+4=13cm
B=1+4+6+4=15cm
Total shape = 28cm

B+6+4+1+4+5=28m
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